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Relação do aço

ELEMENTO
AÇO N DIAM

(mm)

QUANT
C.UNIT

(cm)

C.TOTAL

(cm)

P38 CA60 1 5.0 18 122 2196

CA50 2 10.0 12 207 2484

P39 CA60 1 5.0 18 122 2196

CA50 2 10.0 12 207 2484

P40 CA60 1 5.0 18 122 2196

CA50 2 10.0 12 207 2484

P41 CA60 1 5.0 14 72 1008

CA50 2 12.5 4 207 828

P42 CA60 1 5.0 28 122 3416

CA50 2 10.0 12 147 1764

CA50 3 10.0 12 213 2556

P43 CA60 1 5.0 28 122 3416

CA50 2 10.0 12 147 1764

CA50 3 10.0 12 213 2556

P44 CA60 1 5.0 28 122 3416

CA50 2 10.0 12 147 1764

CA50 3 10.0 12 213 2556

P45 CA60 1 5.0 28 122 3416

CA50 2 10.0 12 147 1764

CA50 3 10.0 12 213 2556

P46 CA60 1 5.0 28 122 3416

CA50 2 10.0 12 147 1764

CA50 3 10.0 12 213 2556

P47 CA60 1 5.0 28 122 3416

CA50 2 10.0 12 147 1764

CA50 3 10.0 12 213 2556

P48 CA60 1 5.0 28 122 3416

CA50 2 10.0 12 147 1764

CA50 3 10.0 12 213 2556

P49 CA60 1 5.0 28 122 3416

CA50 2 10.0 12 147 1764

CA50 3 10.0 12 213 2556

P50 CA60 1 5.0 28 122 3416

CA50 2 10.0 12 147 1764

CA50 3 10.0 12 213 2556

P51 CA60 1 5.0 28 122 3416

CA50 2 10.0 12 147 1764

CA50 3 10.0 12 213 2556

P52 CA60 1 5.0 28 122 3416

CA50 2 10.0 12 147 1764

CA50 3 10.0 12 213 2556

P53 CA60 1 5.0 28 122 3416

CA50 2 10.0 12 147 1764

CA50 3 10.0 12 213 2556

P54 CA60 1 5.0 28 122 3416

CA50 2 10.0 12 147 1764

CA50 3 10.0 12 213 2556

P55 CA60 1 5.0 28 122 3416

CA50 2 10.0 12 147 1764

CA50 3 10.0 12 213 2556

P56 CA60 1 5.0 28 122 3416

CA50 2 10.0 12 147 1764

CA50 3 10.0 12 213 2556

P57 CA60 1 5.0 28 122 3416

CA50 2 10.0 12 147 1764

CA50 3 10.0 12 213 2556

P58 CA60 1 5.0 28 122 3416

CA50 2 10.0 12 147 1764

CA50 3 10.0 12 213 2556

P59 CA60 1 5.0 22 72 1584

CA50 2 12.5 4 147 588

CA50 3 12.5 4 222 888

P60 CA60 1 5.0 23 122 2806

CA50 2 10.0 12 87 1044

CA50 3 10.0 12 213 2556

P61 CA60 1 5.0 23 122 2806

CA50 2 10.0 12 87 1044

CA50 3 10.0 12 213 2556

P62 CA60 1 5.0 23 122 2806

CA50 2 10.0 12 87 1044

CA50 3 10.0 12 213 2556

P63 CA60 1 5.0 23 122 2806

CA50 2 10.0 12 87 1044

CA50 3 10.0 12 213 2556

P64 CA60 1 5.0 23 122 2806

CA50 2 10.0 12 87 1044

CA50 3 10.0 12 213 2556

P65 CA60 1 5.0 23 122 2806

CA50 2 10.0 12 87 1044

CA50 3 10.0 12 213 2556

Resumo do aço

AÇO DIAM

(mm)

C.TOTAL

(m)

PESO + 10 %

(kg)

CA50

CA60

10.0

12.5

5.0

1025

23.1

840.9

695.1

24.4

142.6

PESO TOTAL

(kg)

CA50

CA60

719.5

142.6

Volume de concreto (C-25) = 8.08 m³

Área de forma = 106.5 m²
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